Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
3,766 x 100 = 3,188 x 10 =
3, 606 x 1000 = 9,693 x 10 =
5,569 x 10 = 3,499 x 100 =
3,341 x 1000 = 4,202 x 100 =
4,96 x 1000 = 4,154 x 1000 =
5,992 x 100 = 7,79 x 1000 =
8,143 x 10 = 1,781 x 100 =
9,429 x 100 = 8,453 x 100 =
5,755 x 100 = 2,404 x 10 =
8,003 x 100 = 7,86 % 100 =
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StudentName: ExamDate: __ ExamScore: ____
3,766 x 100 = 376.6 3,188 x 10 = 31.88
3,606 x 1000 = 3606 9,693 x 10 = 96.93
5,569 x 10 = 55.69 3,499 x 100 = 349.9
3,341 x 1000 = 3341 4,202 x 100 = 420.2
4,96 x 1000 = 4960 4,154 x 1000 = 4154
5,992 x100 = 599.2 7,79 x 1000 = 7790
8,143 x 10 =81.43 1,781 x 100 = 178.1
9,429 x 100 =942.9 8,453 x 100 = 845.3
5,755 x100 = 575.5 2,404 x 10 = 24.04
8,003 x 100 = 800.3 7,86 x 100 = 786
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